S s tBh am AR TURR ET: 1FZE (8)

i

?&'—%‘wi gi% *
B 2

June 8, 2021

1. For what values of a, m and b does the function

3, z=0
flz)y=¢ 2?2 +3z+a, O<z<1
mx + b, 1<z<2

satisfy the hypothesis of the Mean Value Theorem on the interval
[0,2]?

2. If the curve r = f() passes through the origin at § = g, then f(6y) =
0 and the slope equation gives

/ .
= 7]6 (8) sin b = tan 6.
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4. If the s measures arc length from Fy in the direction of #,
we find the rate of change of f at Py in the direction of @ by calculating
df /ds at Py.
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5. MBBAHEEREMR (Poisson) 5l
Normal Approximation to Poisson Distribution BIZEIEUN T :
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[If X ~ Poisson(\) then 4 Normal(0, 1) for a sufficient large /\.j
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